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No graphing/programmable calculators allowed.
There are 14 questions in total worth 100 marks.
Show all your work in the space provided and circle your final answers.



9] 1. Find each of the following limits:

(@ lim x* +2x-35
=5 x* —6x+5

- %ﬂ (x+;3éc»5-3
et e

- *‘31”‘0( ( JZ - F)(x+F)
(J;i"“‘“i-?—\)



- [71 2. Consider the piece-wise defined function:
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[71 3. State the limit definition of the derivative (4-step process) and use ONLY
__the limit definition to evaluate f'(x) for f(x)=-5x"-4x+3 .
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[4] . 4. Consider the function f(x)= sz + 2x + 2. Find the equation of the

tangent line to the graph of this function at x=-1 .
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[6] 7.Find f"(2) if f(x)=+x>—4.(Find the value of the second derivative
when x=2)
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~ (a) Find the marginal cost function and use it to estimate the cost of
producing the 11-th unit.

()= 325192 4 32
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(b) Calculate the actual cost of producing the 11-th unit.

Cli= 133\ — 108F + 363 30 = (35



[6] 9. Consider the relation: x° + y =6xy. .

(a) Find the derivétivé % .
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(b) Find the equation of the tangent line to the graph of this relation at the
point (3, 3).
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[71 -13. A manufacturer estimates that x units of its product can be produced ata

total cost of C(x)=x" +100x + 45000 dollars. If the total revenue from
tl"f'-_- X XNnits is R(T\ = 4600y, dalare Antarmine thn Inarol ofavwsdatio—

J that Wl]l maximize the profit. Also, calculate the maximum proﬁt
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[6] 14. Find the antiderivatives:




